
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 923

79 km = 7900000 cm

45 m = 45000 mm

81 m = 8100 cm

63 m = 6300 cm

52 m = 5200 cm

94 km = 9400000 cm

99 hm = 9900000 mm

52 m = 520 dm

14 km = 14000000 mm

24 km = 24000000 mm

3200000 dm = 3200 hm

600000 m = 60000 dam

680000 cm = 680 dam

4800000 dm = 4800 hm

2000000 dm = 200 km

1900000 cm = 190 hm

7000000 mm = 7 km

3100000 m = 31000 hm

650000 cm = 650 dam

50000000 mm = 50 km

40 hm  et 55 dm = 40055 dm

22 hm  et 91 cm = 220091 cm

34 dam  et 43 mm = 340043 mm

16 dam  et 19 cm = 16019 cm

24 km  et 14 dm = 240014 dm

99 dam  et 29 cm = 99029 cm

20 km  et 16 mm = 20000016 mm

20 m  et 85 cm = 2085 cm

21 hm  et 59 dm = 21059 dm

84 km  et 58 mm = 84000058 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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